RNS Number: 1673R HSBC Holdings PLC 23 December 2024

HSBC HOLDINGS PLC

23 December 2024

Notification of Transactions by Persons Discharging Managerial Responsibilities ("PDMRs")

The following transactions of US 0.50 ordinary shares (the "Shares") in HSBC Holdings plc (the "Company"), relate to the additional Shares being added to PDMRs' vested share plan interests through the automatic reinvestment of the third interim dividend for 2024, which took place on 19 December 2024. The price per Share was £7.64519.

Other PDMRs

Name	Shares acquired
Jonathan Bingham	15
David Liao	5,936
Stephen Moss	30
Jo Miyake	64
Barry O'Byrne	18
Michael Roberts	7,288
lan Stuart	13

The following disclosures are made in accordance with the UK version of the EU Market Abuse Regulation 596/2014.

1 - Details of the	person discha	arging manageria	l responsibiliti	es/person	n closely associated
Name of natural	person		Jonathan Bingham		
2 - Reason for th	e notification				
Position/status			Interim Group	Chief Finar	ncial Officer
Initial notification	itial notification/amendment			tion	
3 - Details of the auction moni		on allowance ma	ırket participaı	nt, auction	platform, auctioneer or
Full name of the	entity		HSBC Holdin	gs plc	
Legal Entity Ide	ntifier code		MLU0ZO3ML	4LN2LL2TL	39
4 - Details of the	transaction(s)	l			
Transaction(s) summary tab	ole			
Date of Transaction	Financial Instrument	Identification Code	Place of Tra	nsaction	Currency
2024-12-19	Ordinary	GB0005405286	London Stock	(GBP - British
	shares of		Exchange, M		Pound
	US 0.50 each		Market (XLON	N)	
Nature of Trai	nsaction:		Price	Volume	Total

Acquisition as part of the		£7.65	15	£114.68
reinvestment of the third interim dividend for 2024	Aggregated	£7.645	15	£114.68

Name of natural person David Liao								
			David Liao					
- Reason for th	e notification							
Position/status			Co-Chief Executive, Asia-Pacific - The Hongkong and Shanghai Banking Corporation Limited					
itial notificatio		Initial Notifi	cation					
- Details of the auction monit		on allowance ma	rket particip	oant, auction	platform, auctioneer			
Full name of the entity HSBC Holdings plc								
egal Entity Ider	ntifier code		MLU0ZO3ML4LN2LL2TL39					
- Details of the	transaction(s)							
) summary tab							
Date of Transaction	Financial Instrument	Identification Code	Place of T	ransaction	Currency			
2024-12-19	Ordinary shares of US 0.50 each	GB0005405286	London Stock Exchange, Main Market (XLON)		GBP - British Pound			
	Nature of Transaction:		Price	Volume	Total			
Nature of Tran	nsaction:		Price	Volume	Total			
Nature of Tran Acquisition as reinvestment of	part of the		£7.65	5,936	£45,381.85			

1 - Details of the person discharging managerial responsibilities / person closely associated Name of natural person Stephen Moss								
2 - Reason for the notification								
F	Position/status			Regional Chief Executive, Middle East, North Africa and Türkiye				
li	Initial notification/amendment Initial Notification							
3	- Details of the auction moni		ion allowance mar	ket participant, auction	n platform, auctio	neer or		
F	ull name of the	entity		HSBC Holdings plc				
L	egal Entity Ide	ntifier code		MLU0ZO3ML4LN2LL2TL39				
4	- Details of the	transaction(s))					
Transaction(s) summary table								
	Date of	Financial	Identification	Place of	Currency	1		
	2024-12-19	Ordinan/	Code GB0005405286	Transaction London Stock	GBP - British	-		
	2024-12-19	Ordinary shares of US 0.50	GD0003403266	Exchange, Main Market (XLON)	Pound			

Price

each

Nature of Transaction:

Volume Total

Acquisition as part of the		£7.65	30	£229.36
reinvestment of the third interim dividend for 2024	Aggregated	£7.645	30	£229.36

me of natural	person		Jo Miyake	•		
- Reason for th	e notification					
osition/status			Interim Ch Banking	ief Executive	, Global Commercia	
itial notificatio	on/amendmen	t	Initial Noti	fication		
- Details of the auction moni		ion allowance ma	rket particip	oant, auctior	n platform, auction	
ıll name of the	entity		HSBC Hol	dings plc		
egal Entity Ide	ntifier code		MLU0ZO3ML4LN2LL2TL39			
- Details of the	transaction(s))				
Transaction/s	s) summary tak	ole				
rransaction(s						
Date of Transaction	Financial Instrument	Identification Code	Place of Transacti	on	Currency	
Date of				tock , Main	GBP - British Pound	
Date of Transaction	Instrument Ordinary shares of US 0.50 each	Code	Transacti London St Exchange	tock , Main	GBP - British	
Date of Transaction 2024-12-19	Instrument Ordinary shares of US 0.50 each nsaction:	Code	Transacti London St Exchange Market (X	tock , Main LON)	GBP - British Pound	

1 - Details of the person discharging managerial responsibilities / person closely associated							
Name of natural	Barry O'Byr	ne					
2 - Reason for th	e notification						
Position/status	Chief Execu	utive, Wealth	n and Personal Ban	king			
Initial notification/amendment			Initial Notific	cation			
3 - Details of the issuer, emission allowance market participant, auction platform, auctioneer or auction monitor							
Full name of the entity HSBC Holdings plc							
Legal Entity Ider	ntifier code		MLU0ZO3ML4LN2LL2TL39				
4 - Details of the	transaction(s)						
Transaction(s) summary tak	ble					
Date of	Financial	Identification	Place of		Currency	1	
Transaction	Instrument	Code	Transaction	n			
2024-12-19	Ordinary	GB0005405286	London Sto	ck	GBP - British		
	shares of US 0.50		Exchange, Main Market (XLON)		Pound		
	each						
Natura of Tran	reaction:	Ī	Drico	Volumo	Total	I	

เพลเนเษ บา กาลกรลบแบก.		FIICE	volullie	IUIAI
Acquisition as part of the		£7.65	18	£137.61
reinvestment of the third interim dividend for 2024	Aggregated	£7.645	18	£137.61

- Details of the	person discha	ırging manageria	l responsibi	lities / perso	n closely associated	
lame of natural	person		Michael Roberts			
- Reason for th	e notification					
Position/status			Chief Exec	utive, HSBC U	JSA and Americas	
nitial notification/amendment			Initial Notifi	cation		
- Details of the auction moni	,	on allowance ma	rket particip	oant, auction	platform, auctioneer	
Full name of the entity HSBC Holdings plc						
egal Entity Ide	ntifier code		MLU0ZO3N	/IL4LN2LL2TL	39	
- Details of the	transaction(s)					
Transaction(s	s) summary tab	le				
Date of Transaction	Financial Instrument	Identification Code	Place of T	ransaction	Currency	
2024-12-19	Ordinary shares of US 0.50 each	GB0005405286	London Stock Exchange, Main Market (XLON)		GBP - British Pound	
Nature of Trai			Price	Volume	Total	
Acquisition as reinvestment of		Aggregated	£7.65	7,288 7,288	£55,718.14 £55,718.14	
interim dividend		Aggregated	21.040	1,200	200,7 10.14	

1 - Details of the person discharging managerial responsibilities / person closely associated								
Name of natura	l person		lan Stuart					
2 - Reason for the notification								
Position/status			Chief Execut	tive, HSBC	UK Bank plc			
Initial notification/amendment			Initial Notifica	ation				
3 - Details of the issuer, emission allowance market participant, auction platform, auctioneer or auction monitor								
Full name of the	elitity		HSBC Holdings plc					
Legal Entity Ide	ntifier code		MLU0ZO3MI	_4LN2LL2Tl	.39			
4 - Details of the	transaction(s)						
Transaction(s	s) summary tal	ble						
Date of Transaction	Financial Instrument	Identification Code	Place of Tra	ansaction	Currency			
2024-12-19	Ordinary shares of US 0.50 each	GB0005405286	London Stock Exchange, Main Market (XLON)		GBP - British Pound			
Nature of Tra	nsaction:		Price	Volume	Total			

Acquisition as part of the		£7.65	13	£99.39
reinvestment of the third interim dividend for 2024	Aggregated	£7.645	13	£99.39

For any queries related to this notification, please contact:

Lee Davis
Corporate Governance & Secretariat
shareholderquestions@hsbc.com

This information is provided by RNS, the news service of the London Stock Exchange. RNS is approved by the Financial Conduct Authority to act as a Primary Information Provider in the United Kingdom. Terms and conditions relating to the use and distribution of this information may apply. For further information, please contact msc.com.

RNS may use your IP address to confirm compliance with the terms and conditions, to analyse how you engage with the information contained in this communication, and to share such analysis on an anonymised basis with others as part of our commercial services. For further information about how RNS and the London Stock Exchange use the personal data you provide us, please see our <u>Privacy Policy</u>.

END

DSHFESFLDELSEFE